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1 Solve algebraically the simultaneous equations
y=2x-10 [5 marks]

-2 -4 =22-10 when =12

x*-Sx-4%= -0 Y= 2() -

xt—gx-ke: 0 3:—6

(x- 2)-2)= O ohen =

X=7 x=3 4> U3) -10
NERL

2 Solve algebraically the simultaneous equations

Answer 0= 2 32"6312-5 5:—’-\-

®)

[5 marks]

y=x%>+5x-8

y—4x=4 < U:L\—Jr‘l'i

X"+ 5Sx2-8 = 4 +b4x when X =-4

x*t x-8=4 4= ‘-H‘-l'(“-\\

Y 4x-11= 0 y=-11

(x+4)(x-2)=0 when =3

r=-b x=3 u= G+ 4(2)
W= |6
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3 Solve algebraically the simultaneous equations
y=3x2+2x-8 @
y=9x-10 [5 marks]
A+ 2x-% =9x-l0 when l’%
Lxv-Fx-%=-10 Y= a(%) - \O
IL¥-Fx+1=0 y=-%
(3x-1)x-2)= O ohen 1=
Ix-1=0  x-2=0 Y= - 10

\

L= X=1 3:%

l
Answer JL= /3 3; "q' ) x= Z 5: g

4 A curve has equation y=x%2-5x+10
A line has equation y=3x-6 @
Find the coordinates of the point of intersection of the curve and the line.[4 marks]
X'-Sx+10 = 3x-b when x=4%
3(.1‘81- +10 '-5"’6 3: 3(“)—6
x* -8 +16= 0 \Az\l—é

(x -41>e-4) =0 g = (N
=4

Answer ( L\' , CD )
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5 A curve has equation y=5x>-x-15
A line has equation y=10x-3
Find the coordinates of the points of intersection of the curve and the line.

Sx*-21—-1S = 102-3  when x-o—‘LS[SmarkS]
Cact -1l x-16= -2 3: \0(—%\_‘5
Sx*-1x-12= O 4=-%-3

(Gc+ 4)(2-2)- 0 y= -l

SJ.-I'Ll':O x-3=0 mkgv\, 1_:3
oc,--‘*/s x=3 9=10(3)-3
4= 23
Answers(_% —|\ ) and ( 3 , 1:} )
6 Solve algebraically the simultaneous equations
y=x+3
Give your answers as exact values. [5 marks]
L +x4l =x+3 vhen x=1{2
X*+1 =2 y= 2+3
xX'-1=0 when = -1

x =2 3'«-\[5:4-3

x,=.tr2_

Answer x:"h—— 332‘\'{1 )x:“ﬁ_ 533‘6.
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7 Solve algebraically the simultaneous equations

X2 +y2=100
y=x-2

=+ (x-2)" =100
X4 x¥=2C-2x +L =00
Lx* -lUx +4 =\00
I -4x-96 = O
X" -1x-4% =0
(x-2)(x+€) = 0O

1=% 1=-6

&)

[5 marks]

when x =%
- g—z
when t=-6
- -2

Answer X=8 d:@ ) x_;—-é b-_— -2

8 Solve algebraically the simultaneous equations

X2 +y2=200
y=2x-10

X* + (L -10) = 200
L+ Ux*-20. 20 100 = 200
Sx*-40x +100 =200
Sot-40x -100 =0
x-%x—- 20 =0
(x-oXx42)= O

x= 10 x=-2
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[5 marks]

whea = 10
Y= 2(w) - 10
33 \O

whew x=-1
Y= 1(-2) ~\0
y=—lk

Answer X= \O 3-‘ \© ) X=-2 3 :-\‘k
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" Ainehamequmion zy-10-x «—x= D=1y C)
Find the coordinates of the points of intersection of the circle and the line.
00 - l’j)b ol :‘)t =65 when 5:? (5 marks]
100 -204-20y + 43"4-&":65 x<= \0- UF)
54" -40y +100=6S  x= -k
Sy -40y+35=0
4r-By + =0 when y=
(4-D(y=1)=0  x=1w0-20
4=+ 9=\ x=9

Answers ( —q' , :l— ) and ( 2 , \
10 A circle has equation X2 +Yy2=85
Aline has equation Y +3x =25 & 3 =2S-2x @
Find the coordinates of the points of intersection of the circle and the line.

xt + (25 - 1) = 8S e
X+ 625-3Sx-FSx +92* = &S when x=6
ID2* -150a +625 =85 =26 -1(6)
0x*-1S0£ +540=0  u=73
»x*=1Sx +54 = 0 when X=9
(-6 -9) =0 y=125-3(D
x= b x=9 4y=-21

Answers ( g,:‘-)and(q,_l)
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11 Solve algebraically the simultaneous equations @

—2y?= 1, \
2y X+1 & X- 5 [5 marks]

(25 \) -237' =+ Whea 3:1
‘-l»g —?.3-2.5 x) 23 vz} x= A -\
Q_S'—L\-S-k\ =} x> 5
237'-'4'3'6 =0 when 3:-\
-23=0 s = U-1) -\
(3—3}(3“3 =0 1=z -3
$=3  g=-l
answer =5 Y= ) n=-3 yz=-|

12 2 I(IIUI‘VE has equgtion 2X2 — 3y22 =15
ine has equation Yy =Xx-—
Find the coordinates of the points of intersection of the curve and the line. @
9% - 'S(I"L)z - \S [5 marks]
Lt - (x> +4)= |S when =3
23 12 2= 1S y=2-1
- xX*x|2x-|2 = |5 =\
- x*+2x-93=0
A -|2x+1F =0 when x=4
(x-3)(x-9)=0 y=9-1
x=3 = Y= +

Answers ( 3 : \ ) and ( q : q— )

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

oy r@ @1stclassmaths

13 A curve has equation x2—-8y2=k  where K is a positive integer.
A line has equation 4y =x-1

7

The curve and the line intersect at the points A and B.
The Xx-coordinate of point A is -7.

13 (a)  Work out the value of k.

[3 marks]
At A x=-% X - =k
by = o -\ 3 -22)= ke
by == -\ 49-2(¥) = k
by-=- % 4a-21 =k
y=-1 \F =k
A= (::l.l-l\
(- '+
13 (b)  Work out the coordinates of point B. [4 marks]
X= ll—ﬂ +]
(by+))>-8y"= 13 when y=|
\63‘+33+\“23”: \t x=H))+)
&32'1'%3 +1=\} x= S
By*+fy-16=0
7'+J -2=90
Pﬂﬂ.)(\y\)" O
gz=l y=)
A 4 31\
B=( S ., |
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